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(अवधकतम अंक – 100)  (अिवध – 3 घंटे) 

(Maximum Marks – 100)  (Duration – 3 Hours)  

______________________________________________________________ 

 

अनदुशे: (1) ककन्ही पाचं  प्रश्नों के उत्तर दीविए । सभी प्रश्नों के विए समान अंक ह।ै 

 (2) उत्तर हहदी अथिा अंग्रेिी में विखे िाएं । तथावप सभी प्रश्नों के उत्तर केिि एक ही भाषा में कदए िांए । 

अंशत: अंग्रेिी तथा अंशत: हहदी में विखी गई उत्तर पुवततकाओं का मूलयांकन नहीं ककया िाएगा । 

 (3) प्रत्येक प्रश्न का उत्तर नए पृष्ठ पर कदया िाना चावहए तथा प्रश्न की संख्या शीषण पर बाईं ओर के हावशए में 

विखी िानी चावहए । 

 (4) एक ही प्रश्न के सभी भागों के उत्तर एक साथ विखें । दसूरे शब्दों में एक ही प्रश्न के विवभन्न भागों के उत्तर 

के बीच में ककसी अन्य प्रश्न का उत्तर न विखें । 

 (5) नाम, रोि नं. तथा अन्य प्रविवियां उत्तर पुवततका में केिि वनधाणररत तथान पर ही विखें तथा इन्हें उत्तर 

पुवततका और अनुपूरकों पर अन्य कहीं भी न विखें । 

 (6) उम्मीदिार उत्तर विखने के विए केिि नीिी अथिा कािी तयाही िािे पेन का प्रयोग करें । 

 (7) उत्तरों का मूलयांकन व्याख्या में तकण , संविप्तता तथा तपिता के आधार पर ककया िाएगा । 

 (8) अतपि विखाई के विए अंक काटे िाएंगे । 

 (9) नॉन-प्रोग्रॅमेबि गर्क (Calculator) या िॉग टेबलस का उपयोग ककया िा सकता ह।ै 

   

Instructions : (1) Answer any five questions.  All questions carry equal marks.  

 (2) Answers must be written either in English or in Hindi.  However, all the questions should 

be answered in one language only.  Answer-books written partly in English and partly in 

Hindi will not be evaluated. 

 (3) Each question should be answered on new page and the question number must be written 

on the top in left margin.  

 (4) The answers of parts of the same question, if any, should be written together. In other 

words, the answer of another questions should not be written in-between the Parts of a 

question. 

 (5) The Name, Roll No. and other entries should be written in the answer-scripts at the 

specified places only and these should not be written anywhere else in the answer script  

and supplements. 

 (6) Candidate should use only Blue or Black ink pen to write the answers. 

 (7) Answers will be evaluated on the basis of logic, brevity and clarity in exposition. 

 (8) Marks will be deducted for illegible hand-writing. 

 (9) Use of non-programmable electronic calculator/log table is permitted. 
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|É¶xÉ 1.  (Eò) BEò |ÉhÉÉ±ÉÒ EòÉ º]äõ]õ ´½äþÊ®úB¤É±É ¨ÉÉìbä÷±É xÉÒSÉä ÊnùªÉÉ MÉªÉÉ ½èþ :

ªÉ½þ ¨ÉÉxÉiÉä ½ÖþB EòÒ |ÉÉ®ÆúÊ¦ÉEò ÎºlÉÊiÉªÉÉÄ ¶ÉÚxªÉ ½èþ, |ÉhÉÉ±ÉÒ EòÒ |ÉÊiÉÊGòªÉÉ EòÒ MÉhÉxÉÉ

EòÒÊVÉB *

(JÉ) CªÉÉ ªÉ½þ |ÉhÉÉ±ÉÒ ÊxÉªÉÆjÉhÉnùÉÊªÉEò ½èþ ?

|É¶xÉ 2. (Eò) BEò ÊºÉº]õ¨É EòÒ +É´ÉäMÉ |ÉÊiÉÊGòªÉÉ (Impulse response) <ºÉ |ÉEòÉ®ú ½èþ :

h (t) = t u (t).

<ºÉ ÊºÉº]õ¨É Eäò +É>ð]õ{ÉÖ]õ EòÒ MÉhÉxÉÉ, VÉ¤É <xÉ{ÉÖ]õ |ÉEòÉ®ú u (t) – u (t-1)

½þÉä, EòÒÊVÉB *

 (JÉ) BEò ÊºÉº]õ¨É ÊxÉ¨xÉ |ÉEòÉ®ú ½èþ,

‘ K ’ EòÒ ´Éè±ªÉÚ EòÒ MÉhÉxÉÉ EòÒÊVÉB VÉ¤É  = 0.5 ½þÉä, B´ÉÆ <ºÉÒ  +Éè®ú K

Eäò Ê±ÉB |ÉÊiÉ¶ÉiÉ {ÉÒEò (Peak) +Éä́ ½þ®ú ¶ÉÚ]õ, ºÉè]õË±ÉMÉ ºÉ¨ÉªÉ, =nùªÉ ºÉ¨ÉªÉ

EòÒ MÉhÉxÉÉ EòÒÊVÉB *

|É¶xÉ 3. (Eò) ÊxÉ¨xÉ ÊºÉº]õ¨É EòÉ {ÉÚhÉÇ (i.e., –    {ÉÉä±É®ú {±ÉÉì]õ ºEäòSÉ EòÒÊVÉB :

 (JÉ) BEò 220 V DC ¨É¶ÉÒxÉ BEò VÉÊzÉjÉ Eäò °ü{É ¨Éå 20 A EòÒ 200 V {É®ú +É{ÉÚÌiÉ

Eò®úiÉÒ ½èþ * +É®ú¨ÉäSÉ®ú |ÉÊiÉ®úÉävÉ 0.2 ohm ½èþ * +MÉ®ú ¨É¶ÉÒxÉ EòÉä ¨ÉÉä]õ®ú Eäò °ü{É

¨Éå =ºÉÒ ]õÌ¨ÉxÉ±É ´½þÉä±]äõVÉ B´ÉÆ Ê´ÉtÖiÉ |É´ÉÉ½þ {É®ú ºÉÆSÉÉÊ±ÉiÉ ÊEòªÉÉ VÉÉiÉÉ ½èþ

±ÉäÊEòxÉ }±ÉCºÉ 10% ¤ÉgøÉ ÊnùªÉÉ VÉÉiÉÉ ½èþ iÉÉä ¨ÉÉä]õ®ú EòÒ MÉÊiÉ +Éè®ú VÉÊzÉjÉ EòÒ

MÉÊiÉ <xÉEòÉ +xÉÖ{ÉÉiÉ CªÉÉ ½þÉäMÉÉ ?

|É¶xÉ 4. (Eò) BEò 300 kVA ]ÅõÉxºÉ¡òÉì̈ ÉÇ®ú EòÒ ÊxÉ{ÉÖhÉiÉÉ {ÉÚhÉÇ Ê´ÉtÖiÉ ¦ÉÉ®ú B´ÉÆ 0.8 ¶ÉÊCiÉ

MÉÖhÉÉÆEò ±ÉèËMÉMÉ {É®ú 95% ½èþþ +Éè®ú +ÉvÉä Ê´ÉtÖiÉ ¦ÉÉ®ú iÉlÉÉ ªÉÖÊxÉ]õÒ ¶ÉÊCiÉ MÉÖhÉÉÆEò

{É®ú 96% ½èþ * <ºÉEäò ±ÉÉä½þ-IÉÊiÉ B´ÉÆ iÉÉ©É-IÉÊiÉ EòÒ ºÉÆ{ÉÚhÉÇ Ê´ÉtÖiÉ ¦ÉÉ®ú {É®ú

MÉhÉxÉÉ EòÒÊVÉB * <ºÉ ]ÅõÉxºÉ¡òÉì̈ ÉÇ®ú EòÒ ªÉÖÊxÉ]õÒ ¶ÉÊCiÉ MÉÖhÉÉÆEò ´ÉÉ±Éä Ê´ÉtÖiÉ ¦ÉÉ®ú

{É®ú ¨É½þkÉ¨É ÊxÉ{ÉÖhÉiÉÉ ÊEòiÉxÉÒ ½þÉäMÉÒ ?

(JÉ) BEò 500 kVA, 3-¡äòVÉ ]ÅõÉxºÉ¡òÉì̈ ÉÇ®ú EòÒ ºÉÆ{ÉÚhÉÇ Ê´ÉtÖiÉ ¦ÉÉ®ú {É®ú ±ÉÉä½þ-IÉÊiÉ

300 W +Éè® úiÉÉ©É-IÉÊiÉú 600 W ½èþþ * <ºÉ ]ÅõÉxºÉ¡òÉì¨ÉÇ®ú Eäò Ê±ÉB |ÉÊiÉ¶ÉiÉ

Ê´ÉtÖiÉ ¦ÉÉ®ú EòÒ MÉhÉxÉÉ EòÒÊVÉB ÊVÉºÉ{É®ú =ºÉEòÒ ÊxÉ{ÉÖhÉiÉÉ ¨É½þkÉ¨É ½þÉäMÉÒ *

|É¶xÉ 5. (Eò) BEò 220 V, 15 kW, 1000 rpm ¶ÉÆ]õ ¨ÉÉä]õ®ú ÊVÉºÉEòÉ +É®ú¨ÉäSÉ®ú |ÉÊiÉ®úÉävÉ

0.25 ohm ½èþþ =ºÉEòÉ ®äúÊ]õb÷ (rated) ®äúJÉÉ Ê´ÉtÖiÉ |É´ÉÉ½þ 68 A ½èþ +Éè®ú ®äúÊ]õb÷

IÉäjÉ (field) Ê´ÉtÖiÉ |É´ÉÉ½þ 2.2 A ½èþ * <ºÉ ¨ÉÉä]õ®ú EòÒ MÉÊiÉ 1660 rpm, =ºÉEòÉ

®äúJÉÉ Ê´ÉtÖiÉ |É´ÉÉ½þ 52.8 A iÉlÉÉ IÉäjÉ Ê´ÉtÖiÉ |É´ÉÉ½þ 1.8 A ½þÉäxÉä Eäò Ê±ÉB =ºÉEäò

IÉäjÉ Eäò }±ÉCºÉ ¨Éå |ÉÊiÉ¶ÉiÉ ÊEòiÉxÉä ¤Énù±ÉÉ´É EòÒ VÉ°ü®úiÉ ½þÉäMÉÒ ?
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(JÉ) BEò 3-¡äòVÉ ÊºC´É®äúú±É Ë{ÉVÉ®äú ´ÉÉ±ÉÒ ¨ÉÉä]õ®ú EòÉ |ÉÉ®ÆúÊ¦ÉEò ]õÉìEÇò 150% ½èþ +Éè®ú

®äúÊ]õb÷ (rated) ]õÉìEÇò Eäò ºÉÆnù¦ÉÇ ¨Éå 300% ]õÉìEÇò ®äúÊ]õb÷÷ ´½þÉä±]äõVÉ iÉlÉÉ ®äúÊ]õb÷÷÷

+ÉÆnùÉä±ÉEòiÉÉ {É®ú ½èþ * º]äõ]õ®ú |ÉÊiÉ®úÉävÉ B´ÉÆ ®úÉä]äõ¶ÉxÉ±É IÉÊiÉªÉÉå EòÒ ={ÉäIÉÉ Eò®úiÉä

½ÖþB Îº±É{É EòÒ ´Éè±ªÉÖ EòÒ MÉhÉxÉÉ EòÒÊVÉB iÉÉÊEò ]õÉìEÇò +ÊvÉEòiÉ¨É ½þÉä *

|É¶xÉ 6. (Eò) BEò 400 V, 50Hz, 30HP, 3-¡äòVÉ ´ÉÉ±ÉÒ <xb÷C¶ÉxÉ ¨ÉÉä]õ®ú 50 A EòÉ Ê´ÉtÖiÉ

|É´ÉÉ½þ 0.8 Eäò ±ÉèËMÉMÉ ¶ÉÊCõiÉ MÉÖhÉÉÆEò {É®ú ±Éä ®ú½þÒ ½èþ * º]äõ]õ®ú iÉlÉÉ ®úÉä]õ®ú EòÒ

iÉÉ©É-IÉÊiÉªÉÉÄ Gò¨É¶É: 1.5 kW +Éè®ú 900 W ½èþ * Ê£òC¶ÉxÉ±É +Éè®ú Ë´Ébä÷VÉ

(windage) IÉÊiÉªÉÉÄ 1050 W ½èþþ +Éè®ú EòÉä+®ú IÉÊiÉªÉÉÄ 1200 W ½èþ * ¨ÉÉä]õ®ú

Eäò ½þ́ ÉÉ-JÉÉ<Ç Eäò ¶ÉÊCõiÉ EòÒ MÉhÉxÉÉ EòÒÊVÉB *

(JÉ) {É®ú-ªÉÖÊxÉ]õ ÊºÉº]õ¨É Eäò Ê´É¹ÉªÉ ¨Éå º{ÉÎ¹]õEò®úhÉ nùÒÊVÉB *

|É¶xÉ 7. BEò 220 kV Eäò {ÉÉì́ É®-ÊºÉº]ṏ É Eäò ºÉ¤É-º]äõ¶ÉxÉ Eäò Ê±ÉB ÊnùªÉÉ MÉªÉÉ ½èþ EòÒ 3-¡äòVÉ

¡òÉì±]õ ±Éä́ ½±É 4000 MVA ½èþ +Éè®ú ËºÉMÉ±É ®äúJÉÉ ºÉä OÉÉ=Æb÷ ¡òÉì±]õ ±Éä́ ½þ±É 5000 MVA

½èþ * ÊºÉº]ṏ É Eäò |ÉÊiÉ®úÉävÉ iÉlÉÉ ¶ÉÆ]õ ºÉºÉä{]õõxºÉäºÉ (susceptances) EòÒ ={ÉäIÉÉ Eò®úiÉä

½ÖþB ¤ÉºÉ {É®ú {ÉÉìÊZÉÊ]ṍ ½þ iÉlÉÉ ¶ÉÚxªÉ ÊºÉC´ÉåºÉ bÅ÷ÉªÉÏ´½þMÉ {ÉÉì<È]õ Ê®ú+ìC]õxºÉäºÉ EòÒ MÉhÉxÉÉ

EòÒÊVÉB *

|É¶xÉ 8. (Eò) BEò 50Hz, 4 wÉÖ́ É, 500 MVA, 22 kV ]õ¤ÉÉæ-VÉxÉ®äú]õ®ú, 0.8 ¶ÉÊCõiÉ MÉÖhÉÉÆEò {É®ú

®äúÊ]õb÷ MVA näù ®ú½þÉ ½èþ * +SÉÉxÉEò BEò ¡òÉì±]õ ½þÉä VÉÉiÉÉ ½èþ, ÊVÉºÉºÉä Ê´ÉtÖiÉ

ú ¶ÉÊCõiÉ EòÉ ÊxÉ¨ÉÉÇhÉ 40% Eò¨É ½þÉä VÉÉiÉÉ ½èþþ * ±ÉÉä½þ-IÉÊiÉ EòÒ ={ÉäIÉÉ Eò®úiÉä ½ÖþB

B´ÉÆ ¶ÉÉ}]õ EòÒ <xÉ{ÉÖ]õ ¶ÉÊCiÉ EòÉä ÎºlÉ®ú ¨ÉÉxÉiÉä ½ÖþB VÉÊzÉjÉ ¨Éå ]õÉìEÇò iÉäVÉÒ

(Acceleration) EòÒ MÉhÉxÉÉ MNm ¨Éå =ºÉ ºÉ¨ÉªÉ {É®ú EòÒÊVÉB VÉ¤É Eäò ¡òÉì±]õ

½þÉä ®ú½þÉ ½þÉä *

(JÉ) Îº´ÉSÉbÂ÷÷ ¨ÉÉäb÷ {ÉÉì́ É®ú ºÉ{±ÉÉªÉ (SMPS) EòÒ ºÉÆEò±{ÉxÉÉ EòÉ º{ÉÎ¹]õEò®úhÉ nùÒÊVÉùB *

|É¶xÉ 9. (Eò) BEò 20 kV ¨ÉìÎMxÉ]õ¬Öb÷ EòÉ ®äú±ÉÉ (surge) BEò IÉÊiÉ-Ê´É®úÊ½þiÉ Eäò¤É±É Eäò

ºÉÉlÉ =ºÉEäò VÉÆC¶ÉxÉ EòÒ iÉ®ú¡ò, VÉ½þÉÄ ÊEò nùÉä ºÉ¨ÉÉxÉ ={É®úÒ ºÉÆSÉ®úhÉ ®äúJÉÉBÄ

±ÉMÉÒ ½Öþ<Ç ½èþ, SÉ±É ®ú½þÉ ½èþ * Eäò¤É±É EòÉ <xb÷C]õxºÉÂ +Éè®ú Eìò{ÉìÊºÉ]õxºÉÂ, Gò¨É¶É:

0.4 mH/km +Éè®úþþ 0.5  F/km ½èþ * ={É®úÒ ºÉÆSÉ®úhÉ ®äúJÉÉ+Éå EòÉ <xb÷C]õxºÉÂ

+Éè®ú Eìò{ÉìÊºÉ]õxºÉÂ Gò¨É¶É: 1.5 mH/km +Éè®ú 0.015  F/km ½èþ * VÉÆC¶ÉxÉ {É®ú

®äú±Éä EòÒ ´ÉVÉ½þ ºÉä Ê´ÉtÖiÉ nù¤ÉÉ¤É Eäò ¨ÉìÎMxÉ]õ¬Öb÷ EòÒ MÉhÉxÉÉ EòÒÊVÉB *

(JÉ) SÉÖÆ¤ÉEòÒªÉ ºÉÉ¨ÉOÉÒ Eäò MÉÖhÉvÉ¨ÉÉç EòÉä ºÉ¨ÉZÉÉ<B *

|É¶xÉ 10. (Eò) BEò 3-º]ÅÄõb÷ ´ÉÉ±Éä ´ÉÉ½þEò EòÒ GMR (Greatest Mean Radius), ½þ®ú BEò

º]ÅÄõb÷ EòÒ ÊjÉVªÉÉ ‘ r ’ ¨ÉÉxÉEò®ú, ‘ r ’ Eäò ºÉÆnù¦ÉÇ MÉhÉxÉÉ EòÒÊVÉB *

(JÉ) Eò®Æú]õ ]ÅõÉxºÉ¡òÉì̈ ÉÇ®ú EòÒ ºÉÆ®úSÉxÉÉ, EòÉªÉÇ iÉlÉÉ =ºÉEòÒ ={ÉªÉÖCiÉiÉÉ ºÉ¨ÉZÉÉ<ªÉä *

[{É±É]õEò®ú näùÊJÉB / Turn over
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Q. 1.(a) The state variable model of a system is given below :

Assuming that the initial conditions are zero, calculate the response of
the system.

(b) Is the system controllable ?

Q. 2.(a) The impulse response of a system is given by h(t) = t u(t). Obtain the output

of the system for the input u(t) – u(t-1).

(b)  Consider the system—

Calculate  the  value of  K for    = 0.5 and obtain % age  peak  overshoot,
setting time and rise time of the system for the corresponding  values  of
   and K.

Q. 3.(a) Sketch the complete (i.e., –  polar plot for the system—

(b) A 220 V DC machine supplies 20 A at 200 V as a generator. The armature
resistance is 0.2  If the machine is now operated as a motor at the same
terminal voltage and current but with the flux increased by 10%, what should
be the ratio of the motor speed to generator speed ?

Q. 4.(a) A 300 kVA transformer has 95% efficiency at full load –0.8 pf (lagging) and
96% efficiency at half load, unity power factor. Calculate the iron loss and
copper loss under full load operation. What is the maximum efficiency at unity
power factor load ?

(b) A 500 kVA, 3-phase transformer has iron losses of 300 W and full load copper
losses of 600 W. Calculate the percentage load at which the transformer is
expected to have maximum efficiency.

Q. 5.(a) A 220 kVA, 15 kW, 1000 rpm shunt motor with armature resistance of
0.25  has a rated line current of 68 A and a rated field current of 2.2 A.
What is the % age change in field flux required to obtain a speed of 1660 rpm
while drawing a line current of 52.8 A and a field current of 1.8 A ?

(b) A 3-phase squirrel cage induction motor has a starting torque of 150% and
a torque of 300% with respect to rated torque at a rated voltage and rated
frequency. Neglect the stator resistance and rotational losses. Calculate the
value of slip for maximum torque.

Q. 6.(a) A 400 V, 50 Hz, 30 HP, 3-phase induction motor is drawing 50 A current at
0.8 pf lagging. The stator and rotor copper losses are 1.5 kW and 900 W,
respectively. The frictional and windage losses are 1050 W and the core losses
are 1200 W. Calculate the air-gap power of the motor.

(b) Explain in detail about the per unit system.
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Q. 7. At a 220 kV substation of a power system it is given that the three

phase  fault level is 4000 MVA and single line to ground fault level is
5000 MVA. Neglecting the resistance and shunt susceptances of the
system,  calculate the positive sequence driving point reactance and the
zero sequence driving point reactance at the bus.

Q. 8.(a) A 50 Hz, 4 pole, 500 MVA, 22kV turbo-generator is delivering rated
MVA at 0.8 pf. Suddenly, a fault occurs reducing the electrical power
output by 40%. Neglect losses and assume constant power input to
the shaft. Calculate the accelerating torque in the generator in MNm
at the time of fault.

(b) Explain in detail the concept of switched mode power supply (SMPS).

Q. 9.(a) A surge of  20 kV magnitude travels along a lossless cable towards

its junction with two identical lossless overhead transmission lines.
Inductance and capacitance of the cable are 0.4 mH and 0.5  F/km.
The inductance and capacitance of the overhead transmission lines
are 1.5 mH and 0.015  F. Calculate the magnitude of the voltage
of the junction due to surge.

(b) Explain the properties of magnetic materials.

Q. 10. (a) Find the GMR (Greatest Mean Radius) of a 3-strand conductor in

terms of ‘ r ’, the radius of an individual strand.

(b) Explain the construction, function and application of Current
Transformer.
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